I|8F B3Ho| £=U/X|E
HY =Y X = Ehol k) =Y X|E Ehol
H210|& 0 0 90,801,411 |2020H 8¥ 2,864,000 13,125,217 80,101,484
20204 1€ 3,270,000 1,304,553 92,766,858 [20204 9¥ 2,579,078 3,075,582 79,604,980
2020 2 3,152,000 226,073 95,692,785 [20204 10¥ 12,807,000 6,765,982 85,645,998
2020 3¢ 3,332,264 1,059,512 97,965,537 [20204 11€ 2,837,000 3,547,712 84,935,286
20204 4¢ 2,727,000 828,482 99,864,055 [20204 12€ 4,329,506 30,970,402 58,294,390
2020 5¢ 3,037,000 239,583 102,661,472 [ 47,126,623 79,633,644
2020 6 3,002,775 11,876,703 93,787,544 xt710] 58204390
20204 7¢ 3,189,000 6,613,843 90,362,701
|53 EY 284N
(B¢ : &)
W a=H Xads HEXIZME =
2020-01 SQu2 W 0|8 U 232 10|8HAZE £ 237,553
2020-01 S B 10|Ct2 & 1,067,000
2020-02 SQmz= W 0|8 U S gz 9|gHAZE S 226,073
2020-03 SQmz= W 0|8 U Sz 1M|EHAZE S 244,512
2020-03 S s 1102 & 815,000
2020-04 SQmz= W 0|8 U Sz 10(8HAZE S 228,482
2020-04 SN = 1|1 ZA R 600,000
2020-05 SQmz= W 0|8 U S gz 9|gHAZE S 239,583
2020-06 SQmz= W 0|8 U S gz 10(8HAZE S 392,703
2020-06 BOARAAER H5 2Y 1| ZALE 11,484,000
2020-07 SQmz= W 0|8 U S gz 10(8HAZE S 245,843
2020-07 BOARAAER H5 2Y 1| ZALE 6,258,000
2020-07 gatns 235 S2 11287t & 110,000
2020-08 SQmz= W 0|8 U S gz glgHAZmE S 235,217
2020-08 gatns 235 S2 6|daxg WfdotE S 12,890,000
2020-09 SRZEOH 0|8 A 2R 8| gHAZE & 225,582
2020-09 SHY B 1|1 ZA R 600,000
2020-09 HofHAE 2ol0EnS 2|BAIR 2,250,000
2020-10 SQEmZ W 0|8 U Susg 9|zHAZE S 233,782
2020-10 BRAQAAER H5 2Y 1ML SE S 462,000
2020-10 HofHAE 2ol0EnS 3|ZAR 6,070,200
2020-11 SQEmZ W 0|8 U Susg 9|zHAZE S 232,662
2020-11 BRAQAAER H5 2Y 1M AHYSE S 360,000
2020-11 YojEaE 2o0leus 2/TAME 2,955,050
2020-12 SRZEOH 0|8 A 2R 10|5HAZE 245,402
2020-12 SHY B 1|1 ZA R 300,000
2020-12 BRARAAER H5 2Y 1| ZALE 12,675,000
2020-12 EMNASAEH Felotd X2 1| ZALE 13,500,000
2020-12 HofHAE 2ol0enS 2|BAIR 4,250,000
A 79,633,644
|8 F AIYE 24N
—
Ay JEEL 2501 g 2
B QAAER HE 69%Y | ZALE S 31,239,000
M122 dEMNAHASAFH FeoHA 13,0008 |ZAtR & 13,500,000
HICHH ZojEA~H Bololens 170 |ZME & 9,525,250
2020 O JoIHEEH 1,000 [S.R. F LA 0| M 6,000,000
Hz2loj=2| A= A4 (MO EANE & 13,000,000
LS d= X2 gedst Ce s 1,067,000
sQupZ=2 I 0|8E 9l 23z BHAZE S 2,987,394
SAC S EH| ZANE S 2,315,000
A 50,412% 79,633,644




